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1) Decrease51 by 2/17 2)  Convert the following improper 3) 10/9 + 5/ 4
fraction 42/g + 3%, into amixed
number
Answer: Answer: Answer:
4) 2x14+1 5)  Convert the following mixed number 6)  Findthemeanof thefollowing set of cata
87/ into an improper fraction. 13,7,7,19,12,9
Answer: Answer: Answer:

7) Round 20.718190 to 1 decimal places.

Answer:

8  75%o0f 55

Answer:

9) 10.1x21.2

Answer:

10) 'What isthe probability of rolling a
number less than 1.when rolling a
dice

Answer:

11) Convert the following improper
fraction 3% + 5% into amixed
number

Answer:

12) (-8)-(-21)

Answer:

13) (-12)x 22

Answer:

14) 116x 15

Answer:

15  18.9x6.9

Answer:
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16) 0213 am To05:15am 17) 2 Yg-3 S 18) A number was shared in the ratio
7:5. The smaller share was 30. What
was the larger amount?

Answer: Answer: Answer:

19) A number was shared in the ratio 20) (-200) + (-20) 21) 3 -2 Y,
13:3. The smaller share was 24.
What was the larger amount?

Answer: Answer: Answer:
22) 1719 x 58, 23)  Slggof 198 24)  07:25amTo10:14am

Answer: Answer: Answer:
25) 55.7-14.1 26) Convert the following fraction into a 27) 161, -9,

mixed number: 9/,

Answer: Answer: Answer:
28) 80% of 46 29) 3%+ 4y 30) 98+ 14
Answer: Answer: Answer:
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31) 6 6,-3 5,

33) Round 5.7083 to 2 decimal places.

Answer: Answer: Answer:
34)  08:27am To02:32 pm 35)  09:29 am To 11:50 am 36) 1 Yg-4 g
Answer: Answer: Answer:

37) 65.78 + 4.6

38) 21.2x 146

39) 'What isthe probability of rolling
factors of 4.when rolling adice

Answer: Answer: Answer:
40) Decrease 232 by 1/58 41) 'What isthe probability of rolling 42) 85 x 60
factors of 2.when rolling adice
Answer: Answer: Answer:

43)  725-815

Answer:

44) 100+ (-10)

Answer:

45)  Convert the following fraction into a
mixed number: 11/,

Answer:
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46) 2813+145

Answer:

47) Find the median of the following set of data:
37,23

Answer:

48)  Round 8.95to 1 decimal places.

Answer:

49) Convert the following fraction into a
mixed number: 6/

50) Convert the following mixed number
910 into an improper fraction.

51) 'What isthe probability of rolling a
multiple of 1.when rolling adice

Answer: Answer: Answer:
52) 'What isthe probability of rolling a 53) 6%/, x 48/, 54)  Findthemean of the following set of data:
number less than 3.when rolling a 7,0.7,10, 13, 13
dice
Answer: Answer: Answer:

55)  Convert the following mixed number
310/, into an improper fraction.

56) Round 10.63 to 1 decimal places.

57) 01:46 am To 03:36 am

Answer: Answer: Answer:
58) 82.4-64.1 59) Yg of 35 60) 72-3-9
Answer: Answer: Answer:
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63) Find the mode of the following set of data:

factors of 6.when rolling adice

Answer: Answer:

61) 23-(-39) 62) A number was shared in theratio
5:9. The smaller share was 20. What 17,17, 34,34, 34,5, 5, 39, 39, 39,
was the total amount shared? 39, 39, 40, 40, 40, 40, 40
Answer: Answer: Answer:
64) 'What isthe probability of rolling 65) Round 28.98328 to 1 decimal places. 66) 6-19+7x5

Answer:

67) 12272+ 11.8 68) 48% of 43

69)  48%of 43

Answer: Answer: Answer:
70) Find the median of the following set of data: 71) Find the mean of the following set of data: 72) Find the range of the following set of data:
27,4,11,15,12, 35,3 4,10 0.8,1,5
Answer: Answer: Answer:
73) 93- (-73) 74) 4 -2 S 75) Decrease 148 by 1/,
Answer: Answer: Answer:
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76) 36.2+21.6 77) 435 x 181, 78)  Convert the following improper
fraction 1%/ + 55/ into a mixed
number

Answer: Answer: Answer:

79) 10 x (-19) 80) 5%, + 61/, 81) 'What isthe probability of rolling a
even prime number.when rolling a
dice

Answer: Answer: Answer:
82) (-153) = (-17) 83) 0x39 84) W12,
Answer: Answer: Answer:
85) Round 18.612733t0 5 decimal places. || 86) 6/, x 18, 87) (-70) + (-1)
Answer: Answer: Answer:
88)  Findthemodeof thefollowing set of datar 89) (-67) - (-15) 90) Round 27.66851470 to 7 decimal
31,31, 31,42,42, 42, 42, 42 places.
Answer: Answer: Answer:
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91) Convert thefollowing fractioninto a 92) 34% of 19 93) 12 + (-64)
mixed number: 14/
Answer: Answer: Answer:

94) Round 18.0848 to 1 decimal places. 95) 13.5-88.8 96) Convert the following improper
fraction 1%/, + 1%/, into amixed
number

Answer: Answer: Answer:

97) Convert the following fraction into a 98) 120+ 10 99) 21x17.3

mixed number: 18/
Answer: Answer: Answer:

100) 4%+ 6%

Answer:

Total: /100

Copyright 2020 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Sr: 11012020-1228
11-PLUS

MATHS WORKSHEET%‘ SATS 20

GCSES N2

Name:

January 11, 2020

GEMERA i

Answers:
1) 45 2) 78,8 3) 8 4) 5) 55/ 6) 11.17 7)20.7
8) 41.25 9) 214.12 10) %, 1) 9%,  12)13 13) 14) 17.4
15) 130.41 16) 03 Hours 02 Mins  17) 21/, 18) 42 19) 104 20) 10 21) 1
22) 1014/, 23) 10 24) 02 Hours49 Mins ~ 25) 41.6 26) 21/, 27) 6%, 28) 36.8
29) 6%/, 30) 7 31) 3%, 32) 3l 33)5.71 34) 06 Hours 05 Mins 35) 02 Hours 21 Mins
36) 6%/, 37)14.3 38) 309.52 39) Y, 40) 228 41) U4 42) 5100
43)-9 44) 90 45) 1%, 46) 19.4 47) 30 48)9 49) 6
50) 4, 51) 4, 52) U, 53)311Y,, 54)8.74 55) 11/, 56) 10.6
57) 01 Hours 50 Mins 58) 18.3 59) 7 60) 37 61) 62 62) 56 63) 39
64) 2, 65) 29 66) 67) 10.4 68)20.64  69) 20.64 70) 15
)7 72) 4.2 73) 166 74) 2 75) 146 76) 57.8 77) 8lg
78) 7%, 79) 80) 8%, 81) Yg 82)9 83)0 84) 21/,
85) 18.61273 86) 18 87)-71 88) 42 89) -52 90) 27.6685147 o1) 1%/,
92) 6.46 93) -52 94) 18.1 95) -75.3 %) 3% 97) 3% 98) 12

99) 36.33 100) 192/,
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